



Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

05/22/2025 10:00 AM | Drive and Deliver to state 05/23/2025 09:00 AM | Day 2 installation State 05/23/2025 10:00 AM | Drive to Santa Barbara and install Rosewood 05/23/2025 12:00 PM | Welcome Party 05/23/2025 05:00 PM | Shabbath Dinner 05/23/2025 10:00 PM | Strike Over night Dinner 05/24/2025 09:00 AM | Installation day 2 Rosewood 05/25/2025 07:00 AM | Installation Rosewood Loan anf finish Touches 05/25/2025 07:00 PM | Strike Cocktails 05/26/2025 07:00 AM | Strike Ballroom & Drive back to LA

PO: Shipping Address: Rosewood Miramar KED & Co.

Invoice Date: Due Date: Upon Receipt

Salesperson: Romina Manolio

	Qtty	Price		Total
Cocktail may 23rd State				
Pedestals - Arched Lucite Frame	4	\$180.00	Т	\$720.00
15.75" x 42"H				
Stand Up Tables - Buenos Aires - Clear 43"	8	\$120.00	Т	\$960.00
14"W x 14"L x 43"H				
Bars - Boston - Complete Oval 16' - Metal	1	\$4,800.00	Т	\$4,800.00
Option 2 - Painted in TBD with Decals in Insert 16'W x 30"L x 43"H - Color Change Upon Request				
Barback - Round Metal	1	\$360.00	Т	\$360.00
Painted in TBD				
Custom Made Panels 12'x 8'H for Flower Basels Seating Card	5	\$1,800.00	Т	\$9,000.00
Painted in TBD Finish TBD with Shelves if the Basels from MG are 11" in height and With only 40 per panels will Fit				
Total Shabbat	Dinner Coc	ktail may 23rd St	ate	\$15,840.00
May 23rd - reception State				
Sofas - Siena - Off White W/ Wood Base 8'	2	\$480.00	Т	\$960.00
8'W x 36"L x 31"H				
Custom made ceiling Cap in TBD	1	\$4,200.00	Т	\$4,200.00
To Cover kitchen top 60x 30				
Custom Made Half Round Tables 40"With	16	\$0.00	Т	\$0.00
This table needs to match Rental Company W &H 6 sets to Create a half-circle				
	15.75" x 42"H Stand Up Tables - Buenos Aires - Clear 43" 14"W x 14"L x 43"H Bars - Boston - Complete Oval 16' - Metal Option 2 - Painted in TBD with Decals in Insert 16'W x 30"L x 43"H - Color Change Upon Request Barback - Round Metal Painted in TBD Custom Made Panels 12'x 8'H for Flower Basels Seating Card Painted in TBD Finish TBD with Shelves if the Basels from MG are 11" in height and With only 40 per panels will Fit Total Shabbat May 23rd - reception State Sofas - Siena - Off White W/ Wood Base 8' 8'W x 36"L x 31"H Custom made ceiling Cap in TBD To Cover kitchen top 60x 30 Custom Made Half Round Tables 40"With This table needs to match Rental Company W &H	Cocktail may 23rd State Pedestals - Arched Lucite Frame 4 15.75" x 42"H 8 Stand Up Tables - Buenos Aires - Clear 43" 8 14"W x 14"L x 43"H 1 Bars - Boston - Complete Oval 16' - Metal 1 Option 2 - Painted in TBD with Decals in Insert 16W x 30"L x 43"H - Color Change Upon Request Barback - Round Metal 1 Painted in TBD 1 Custom Made Panels 12'x 8'H for Flower Basels Seating 5 Card Painted in TBD with Shelves if the Basels from MG are 11" in height and With only 40 per panels will Fit 2 Total Shabbat Dinner Coc May 23rd - reception State Sofas - Siena - Off White W/ Wood Base 8' 2 8'W x 36"L x 31"H 1 Custom made ceiling Cap in TBD 1 To Cover kitchen top 60x 30 1 Custom Made Half Round Tables 40"With 16	Cocktail may 23rd State Pedestals - Arched Lucite Frame 4 \$180.00 15.75' x 42"H \$180.00 Stand Up Tables - Buenos Aires - Clear 43" 8 \$120.00 14"W x 14"L x 43"H 8 \$120.00 Bars - Boston - Complete Oval 16' - Metal Option 2 - Painted in TBD with Decals in Insert 1 \$4,800.00 Option 2 - Painted in TBD with Decals in Insert 1 \$4,800.00 Painted in TBD Color Change Upon Request 1 \$360.00 Barback - Round Metal Painted in TBD 1 \$360.00 Custom Made Panels 12'x 8'H for Flower Basels Seating Card 5 \$1,800.00 Painted in TBD Finish TBD with Shelves if the Basels from MG are 11" in height and With only 40 per panels will Fit 5 \$1,800.00 Total Shabbat Dinner Cocktail may 23rd St May 23rd - reception State Sofas - Siena - Off White W/ Wood Base 8' 2 \$480.00 8W x 36"L x 31"H 1 \$4,200.00 \$4,200.00 Custom made ceiling Cap in TBD 1 \$4,200.00 To Cover kitchen top 60x 30 1 \$4,200.00 \$4,200.00 To Cover kitchen top 60x 30 16 <td< td=""><td>Cocktail may 23rd State Pedestals - Arched Lucite Frame 4 \$180.00 T 15.75' x 42'H 8 \$120.00 T Stand Up Tables - Buenos Aires - Clear 43" 8 \$120.00 T 14'W x 14'L x 43'H 1 \$4,800.00 T Bars - Boston - Complete Oval 16' - Metal 1 \$4,800.00 T Option 2 - Painted in TBD with Decals in Insert 1 \$4,800.00 T Barback - Round Metal 1 \$360.00 T Painted in TBD 1 \$360.00 T Custom Made Panels 12'x 8'H for Flower Basels Seating Card \$1,800.00 T Painted in TBD Finish TBD with Shelves if the Basels from MG are 11'' in height and With only 40 per panels will Fit Total Shabbat Dinner Cocktail may 23rd State May 23rd - reception State Custom made ceiling Cap in TBD 8W x 36'L x 31''H 2 \$480.00 T 6W x 36'L x 31''H 1 \$4,200.00 T Custom made ceiling Cap in TBD 1 \$4,200.00 T To Cover kitchen top 60x 30 1 \$4,000 T</td></td<>	Cocktail may 23rd State Pedestals - Arched Lucite Frame 4 \$180.00 T 15.75' x 42'H 8 \$120.00 T Stand Up Tables - Buenos Aires - Clear 43" 8 \$120.00 T 14'W x 14'L x 43'H 1 \$4,800.00 T Bars - Boston - Complete Oval 16' - Metal 1 \$4,800.00 T Option 2 - Painted in TBD with Decals in Insert 1 \$4,800.00 T Barback - Round Metal 1 \$360.00 T Painted in TBD 1 \$360.00 T Custom Made Panels 12'x 8'H for Flower Basels Seating Card \$1,800.00 T Painted in TBD Finish TBD with Shelves if the Basels from MG are 11'' in height and With only 40 per panels will Fit Total Shabbat Dinner Cocktail may 23rd State May 23rd - reception State Custom made ceiling Cap in TBD 8W x 36'L x 31''H 2 \$480.00 T 6W x 36'L x 31''H 1 \$4,200.00 T Custom made ceiling Cap in TBD 1 \$4,200.00 T To Cover kitchen top 60x 30 1 \$4,000 T

Description		Qtty	Price		Total
	Custom Made table cloth for Half Round Tables Revelry will only - be cutting, and sawing fabric - Client will provide Actual Linen Fabric	1	\$0.00	Т	\$0.00
	Props - Misc - Mirror Disco Ball 24" 24"D	3	\$42.00	Т	\$126.00
	Props - Misc - Mirror Disco Ball 20" 20"D	2	\$36.00	Т	\$72.00
	Garden Club & Lounge Chairs - Scalloped Chair	4	\$180.00	Т	\$720.00
	Garden Sofas - Scalloped Love Seat	2	\$330.00	Т	\$660.00
	Coffee Tables - Toronto - Rectangular 36"W x 22"L x 17"H - Frame Color & Top Upon Request	2	\$180.00	Т	\$360.00
THE A	Accent Table - Toronto - Round 24"Diam x 23"H - Custom Frame Color & Top Upon Request	4	\$72.00	Т	\$288.00
	Bars - Montecito - White Folding Wood 6' Painted in TBD 6'W x 31"L x 42⤠🛙 H	4	\$960.00	Т	\$3,840.00
	Total Shabbat D	inner May 23	rd - reception S	tate	\$11,226.00
Welcome Day Pa	arty				
XXX	Bars - Napa - Wood Folding Bar 6⤠¤ ₩32⤠¤ ±42⤠¤ H	4	\$600.00	Т	\$2,400.00
	Bars - Curved Wood & Tin Front	2	\$780.00	Т	\$1,560.00
	Bars - Tahoe - Reclaimed Wood Folding 8' 8'W x 30"L x 42"H	4	\$420.00	Т	\$1,680.00
	Garden Props - Pagoda Umbrella 8' 8'Diam x 8.5'H - Custom Cover Upon Request	9	\$144.00	т	\$1,296.00
		Total	Welcome Day P	arty	\$6,936.00
WEdding Cockta	il - May 25th - Rosewood				
	Benches - Modular Foam Benches W/ Backrest 6' - Middle	4	\$360.00	Т	\$1,440.00
	6' x 30" D x 18" H				

Description		Qtty	Price		Total
B	Benches - Modular Foam Benches W/ Backrest 6' - Left 6' x 30" D x 18" H	2	\$360.00	Т	\$720.00
	Benches - Modular Foam Benches W/ Backrest 6' - Right 6' x 30" D x 18" H	2	\$360.00	Т	\$720.00
50	Coffee Tables - St. Barts - Natural Wood White Wash 60" W x 32" D 12"H	4	\$264.00	Т	\$1,056.00
	New St Barts - Natural Wood White Wash	6	\$264.00	Т	\$1,584.00
	Benches - Modular Foam Benches W/ Backrest 5' 5' x 30" D x 18" H	2	\$0.00	Т	\$0.00
	Custom Made Cover for Modular Benches Fabric TBD	10	\$300.00	Т	\$3,000.00
	Custom Made Bases in Wood for Benches	10	\$420.00	Т	\$4,200.00
	Custom 24 Bar	1	\$5,400.00	Т	\$5,400.00
	Custom Made barback ^{6'x}	4	\$1,440.00	Т	\$5,760.00
	Custom Made Center Division For Bride and Groom 12'x 60 x 12'H with and Awning Station on the Front for 2' along the 36' Creating a box with Heavy Drape	1	\$10,200.00	Т	\$10,200.00
	Custom Made Panels Slatted on Side Of center Divider 4'x 12' in natural Wood	10	\$1,440.00	Т	\$14,400.00
	Ottomans - Standard Pod Custom cover 18"RND x 17"H - Cover Color Upon Request	24	\$66.00	Т	\$1,584.00
	Mix and Match pillows	25	\$30.00	Т	\$750.00
	Custom Made 12 bar satelite on side	1	\$2,640.00	Т	\$2,640.00
	Console Tables - Oval Antique Brass 48.5" x 15" x 32"H	2	\$204.00	Т	\$408.00
	Total WEdding Co	ocktail - M	lay 25th - Rosewo	ood	\$53,862.00
VEdding Recep	tion May 25th - Rosewood				
	Fabric Treatment to Cover Ballroom In Natural Gauze With Valance Around the room 180' x 19'H PLus to create Swags around the room 350 x 12'H PLus To Cover the lower area and create Swags Around the room, double-sided Pullbacks on the Door side for	1	\$12,000.00	Т	\$12,000.00

\$5,520.00 \$3,000.00 \$4,320.00 \$2,880.00
\$4,320.0
\$2,880.0
\$33,240.0
\$3,900.0
\$3,600.0
\$5,200.0
\$3,300.0
\$4,800.0
\$900.0
\$7,800.0
\$4,400.0
\$5,200.0
\$3,000.0
\$0.0
\$1,472.0
\$536.0
\$2,864.0
\$3,300.0
\$4,400.0
\$1,500.0

Please make checks payable to Revelry, Inc.	Total Products:	\$121,104.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Total Labor/Services/Misc:	\$62,372.00
	Wear & Tear (4.00%):	\$4,844.16

Manager on Site

\$2,422.08

\$6,200.00

\$6,200.00

Packing (2.00%):

1

Taxes :	\$11,504.88
Discounts:	(\$0.00)
Total:	\$202,247.12
Payments:	(\$0.00)
Balance:	\$202,247.12